5/16"-18 x 3 1/2" HH BOLT
RETAINING WASHER
PLUMBIZER ARM
CAST 535 ALUMINUM
J 5/16-18 x 1" HH BOLT

3/8"-16 x 4 1/2" HH BOLT
3/8"-16 NYLON LOCK NUT
(2) 3/8" FLAT WASHER

TWO-WAY TUBULAR TOP
CAST 535 ALUMINUM

GASKET

SHURLOCK SPACER
CAST 535 ALUMINUM

RETAINING WASHER
5/16" KEPS NUT

COVER PLATE
CAST 535 ALUMINUM

1/4"-20 x 3/4" HH BOLT

MONO STUD
RETAINING WASHER

TWO-WAY SPREADER BAR
CAST 535 ALUMINUM

THE INFORMATION CONTAINED IN I
THIS DRAWING IS THE SOLE I sh

REFRODUCTION IN PART O WHOLE i

WITHOUT THE_WRITTEN PERMISSION M SRR TN 0 UNTINGIRE A AEE
NOTES: OF SKYBRACKET IS PROHIBITED. e
1. PLATED STEEL HARDWARE. ol W o CLUSTER, PLUMBIZER

2. STAINLESS STEEL HARDWARE AVAILABLE, o TRe 8/03/28

SALES
SIZE ' DWG. NO. REV

ENGINEERING A S B-TCAK

DO NOT SCALE DRAWING SCALE: NTS CAD FILE: SBTCAK SHEET  10OF1



	Sheet1
	Drawing View1


